Subject: execute problem
Posted by R. Bauer on Thu, 30 Jan 1997 08:00:00 GMT

View Forum Message <> Reply to Message

Hi,
here is an other problem
we have idl versions 3.61 and 4.01.

in idl 4.01 it's possible to execute a string with the length 625.
idl 3.61 gave the error that's the string is too long.

There is no way in our case to seperate the string, because it's a
definition for a structure.

Now the questions:
where is the border for a string to execute by idl 4.01?

how could | solve the problem for idl 3.61?

R.Bauer

Institut fuer Stratosphaerische Chemie (ICG-1)
Forschungszentrum Juelich
email: R.Bauer@kfa-juelich.de
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